LR ] pUgE R gpd g
BIY - B RS bR




RIS % [ TR~ % I 53 pReepT

® [T - 11
o B 1
° “}fﬁfl&ﬂlé? 0 {7
[%- 25 p#kin]
N=1
i FEE (F1518%)

SV R R

SE4l 1 (100.0%)

EET B B CHEAD
IR R

Elﬁlmﬁmydt CESIRNEE IS St
e

1 (100.0% )

1 (100.0% )




B (F1s

iE)

1 (100.0% )

[ % = iz
B
[ E' erJ [
e F 2 S
F’"E '*r]*‘ BRSO
S

" FJ
6N E '*fj'r:‘,;hfl‘ﬁ%&ﬁ}f KIHLRL B - X
AR

[ E' Q@%E"J"?ﬁifﬁﬂﬂﬂwm— W
AR

e S (SRS 5 Ty
AR

F«:r W EpUT (EET 82 DR

iy FJ 7JE

[ﬁ:—k“i_}‘r‘b—f %’J)E%TFEEJ#S?UIF;H}}\: f—
= PJ 7JE
Fuv[[fﬁ' @Tulﬁ—}]ﬁ: =

ntieng

*%?*E' 2 PPN TR

<.-:~J

mlr_ﬂ

E' &R &
5388

_"LHT* —-Eull

Ay

i

F’E'F

#ﬁf[..J »E

AR i

‘EEJ?I“M? Z2u
7IE

ik

(B2 (SR TP AL \Iﬁl

jiE=12,

1 (100.0% )
1 (100.0% )
1 (100.0% )
1 (100.0% )
1 (100.0% )
1 (100.0% )

1 (100.0% )

1 (100.0% )

1 (100.0% )

1 (100.0% )




A

ol

Bl

FUNEHE T 4EI R

N7
i

e (F1558)

] R Fif JHEIR I
ey 0 0 0 0 1 (100.0)
&) 0 0 0 0 1 (100.0)
B = ! 0 0 0 0 1 (100.0)
T (e 0 0 0 0 1 (100.0)
7 B 0 0 0 0 1 (100.0)
Bl 0 0 0 0 1 (100.0)
fiE sl 0 0 0 0 1 (100.0)
B, R 0 0 0 0 1 (100.0)
SEfiE O P 0 0 0 0 1 (100.0)




N=1

EE (FroiE)

o
A S
S FEEP

s
TR
SR

ey
A

EERLA EAUBET ) 7
TR A

1 (100.0% )

1 (100.0% )

1 (100.0% )

1 (100.0% )

1 (100.0% )




]

R (FroiEs)

TEEH
+

RSP
i

IR
I

[2F |

1<

mb L

[EE 0 2 2R
R

L
g 1t

1 (100.0%)

1 (100.0% )

1 (100.0%)

1 (100.0%)

1 (100.0%)




1-1.

RIS [ TR~ I 5 RS

[%- e

[ VYN R 2

"/‘W‘]

RIS

120

100

80 1

60 1

40 1

20 1

G4l

[

EIFFF I

RARIF 155 =

S

SEMIL

100.0

100.0

100.0

BEANRARFRT

120

100 1

80 A

60 A

40

20 A

ALEESS ¢

[

TIFFF Iy

FARIF 155 =

E| i‘ﬂfld

AR

1 100.0

100.0

100.0




1-1-1. BEFWRRAEED , HREMERERE :

Bty

U m— s (el | e
Rl R F RN B2 15 T | Vg T g o
T, 5 J F =Nk & & refker ESSEETS e L $i§§&F[I E
i ﬁ‘}"ﬁ (e TR B
FEE | 0 0 0 0 0 0 0




CER L & D

1. LB R T/EMME ?

80

60

40 A

20 A

T TioyEs | EFSTIE | BATT

SN

i |
-
=
=
(-}

100.0 100.0

2. BB EERMNREEBHRB 2

120

80 A

60 A

40

20 A

e T EPSEIIE | BIMEE TR
100.0 100.0

SN

i |
-
=
=
(-}




BEBRRENREEIZRAB—?

80

60 1

40 1

20 A

Fio5

EIFEIE

BRI 155 =

S

= El 2

|

100.0

100.0

100.0

4. BB AIRENTRERIRBAB—F 7

80

60

40 1

20 A

Fio5 b=

EFSF )

BRI 157 =

S

= El 2

|

100.0

100.0

100.0




58FHB AT HERRBRZIDNE?

i 120
i
b=
100
80
60
40 1
20
0
RSTa Ti5) TESTIE | BRI
TR TR T 1 100.0 100.0 100.0
6.2 BATIHRBARSIT?
1 120
73
b=
100
80
60 1
40
20
0
RS a T TESTIE | EEIT R
TR TR T 100.0 100.0 100.0

10




TR T SLORBRIEGTHE?

80 1

60 1

40 A

20 A

Fio5 B

EIFFE I

BRI 157 =

E| i‘ﬂfld

ERVHREEY

100.0

100.0

100.0

8. B MABRIEDG T2

120

100 +

80

60

40 1

20 A

[

_

EIFFE I

BRI 155 =

E| i‘ﬂfld

1533

El 2

|

100.0

100.0

100.0

11




0.IERRABTES VU ERES EBEEIEN TH 2

80 A

60 A

40 A

20 A

RS a Ty ST E | BRMITIO B
TR TR ] 100.0 100.0 100.0
10. 2B 8 THESET R RN RE2EEEM ?
10
F |
i
[
100 A
80 1
60 1
40
20
0
T TioaEs | EFSTI | BEMTT
TR TR 1 100.0 100.0 100.0

12



MNEBMS 6 ARGELIHEHEHAE

12,BBTHE  BRATIRABEESER?

wHE

e N

BIE

B THENRBIBERRM ?

120

100 +

80 A

60 A

40 A

20 A

FFSF ) P

BRI 155 =

S

= El 2

|

100.0

100.0

120

100 +

80 A

60 A

40 A

20 A

FFSF ) P

BRI 155 =

S

= El 2

|

100.0

100.0

13




_F[ 120
73
b=
100 1
80 1
60 1
40 1
20 A
0
RSTa Ti5) EESTIoIE | BTG
= [;',strﬂg = JEl ;in—:’? 100.0 100.0 100.0
THmEE
_F[ 120
73
b=
100 1
80 1
60 1
40 1
20 A
0
RSTa Fioj k= EESTIoIE | BTG
= [;',strﬂg = JEl ;in—:’? 100.0 100.0 100.0

14




_F[ 120
73
b=
100 A
80
60
40 A
20 A
0
RS a Ty TESTIE | BRI
_‘éﬁyﬂg = E TR 100.0 100.0 100.0
FEde
_F[ 120
73
b=
100 A
80
60
40 A
20 A
0
RSTa Fioj k= TESTIE | EEIT R
_‘éﬁyﬂg = E ;in—:’? 100.0 100.0 100.0

15




_F[ 120
73
b=
100 1
80 1
60 1
40 1
20 A
0
RSTa Ti5) TESTIE | BRI
= [;',strﬂg = JEl ;in—:’? 100.0 100.0 100.0
BEAD
_F[ 120
73
b=
100 1
80 1
60 1
40 1
20 A
0
RSTa Eiod b [ EsEo s | BRI
= [;',strﬂg = JEl ;in—:’? 100.0 100.0 100.0

16




_F[ 120
73
=
100 A
80
60
40 A
20 A
0
RSTa Fiojbs | EFEIES | BRIME I E
_‘éﬁyﬂg = E ;in—:’? 100.0 100.0 100.0
HESHNEM
_F[ 120
73
=
100 A
80
60
40 A
20 A
0
RSTa Fioj k= EESTIoIE | BTG
= [;',strﬂg = JEl ;in—:’? 100.0 100.0 100.0

17




80 A

60 A

40 A

20 A

[y

T

EIFFE I

BRI 157 =

I

2l 2J

|

100.0

100.0

80 A

60 A

40 A

20 A

EIFFE I

BRI 155 =

2l 2

|

100.0

100.0

18




80 A

60 A

40

20 A

EIFFE I

BRI 155 =

S

= El 2

|

100.0

100.0

80 A

60 A

40 A

20 A

EIFFE I

BRI 157 =

S

= El 2

|

100.0

100.0

19




3. KEMRBRRR (TT) ?

120

100 +

80 A

60 A

40

20 A

EIFFE I

BRI 155 =

S

= El 23

|

100.0

100.0

20




A > 2\ == )
itz FF F #]
:3:]]
F[ 120
2
&=
100 1
80 1
60 1
40 1
20 A1
0
s Tiodbs | EEST R | AT
IR 1 100.0 100.0 100.0
B BRI ?
- 120
Fl
73
&=
100 1
80 1
60 1
40 1
20 1
0
H15
s Tiodbs | EESTE | BHAT G
TS 100.0 100.0 100.0

21




3. BBETLH?

4. BEAMNEEHISR?

100 1

80 1

60 1

40 A

20 1

Fioy

EIIFE I

BRI 155

EiEsSE

e

100.0

100.0

100.0

120

100 +

80 A

60 A

40 A

20 A

HLIET)

Fio5 b=

EIFFF I

RARIF 155 =

S

AL

100.0

100.0

100.0

22




5.8 B al{ETEEE 2

- 120

100 1

80 1

60

40 1

20 A

M Fiogbs | ERFoIE | BRI E

AR NES 1 100.0 100.0 100.0

23




